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Note on the 2010 ISSP Module Survey Conduct in South Korea

The 2010 ISSP module survey was conducted, as usual, as an integral part of the Korean
General Social Survey (KGSS). The KGSS is a nationally represented annual social
survey, which usually incorporates at least two topical. modules in addition to its
replicating core questionnaires. Included in the 2010 KGSS, besides ISSP, are the special
topical modules <Health in East Asia>, < Musculoskeletal Disease in Korea > and
<International Migration in Korea>. The ISSP standard background variables are
incorporated into the replicating core-questionnaires section of the KGSS. In the 2010
KGSS, all ISSP variables(both topical and background) have been included.



Please name the ISSP module which the documentation refers to:

Environment // / ISSP 2010

Please name your country:

South Korea

*Note on Codes Display: (codes in brackets) are not given by the interviewer while the
circled codes are verbally given by the interviewer during the interview.

SEX — Sex of respondent

National Language

English Translation

Question no. | 29. Zro| &1 Q= 7kEm 2 Atm 9= | 29. Now | would like to ask about the
and text JIE, JHES OILIK|ZF K FTHolA ZO] members of your househplg. .Please
Aol N BEE maaA] MKl 2latel include all'members who are I|V|r_19 in your
S- A AR ETE SR = ° house “and who are temporarily living
Ot BHAQIXK| Yaash FAIZ CFE EEO | somewhere else. Answer the following
EH5lo] FAAIR questions beginning with yourself.
29. 1.1.Relation to respondent
29.1.1. SEXteto| 7|
Codes/ 01 &&=} 01 Respondent
Categories
Interviewer (ol2f 27|12 210 STHRIe| gtH HE S (WRITE DOWN THE PERSON’S
Instruction | 5jo1s+ so0f A4, Lto| Eolatel S EIEQLS'?\I'T,IAONNDS THEN ASK PERSON'S Eg;
AHCHZ EEStL, 2| £ 34,35,36 01l A AGE, MARITAL STATUS, CO-RESIDENCE
x[&48t Ab2tol BHSH R2E 74) STATUS, THE REASON FOR LIVING
ELSEWHERE, EMPLOYMENT STATUS,
AND THE REASON FOR NOT
WORKING. CHECK ANSWERS, OR
RECORD THE CODE NUMBER OR HIS/HER
RESPONSE. 1. MAKE SURE TO ASK ABOUT
EACH AND EVERYONE COUNTED IN
QUESTIONS 34,35 AND 36 ABOVE)
Question no. | 29-1-2. o] &+ AL Y712 29-1-2. Is [Person] male or female?
and-text oz Y 712
Codes/ OR:=24; (D Male
Categories | @) oJ =} (2 Female
Translation
Note
Note

Construction/Recoding:

Country Variable Codes (in translation)

= SEX




If Q29-1-1=1 and Q29-1-2=1, SEX=1 1. Male
If Q29-1-1=1 and Q29-1-2=2, SEX=2 2. Female
If Q29-1-1=1 and Q29-1-2=8 9. No answer

BIRTH — Year of birth

National Language

English Translation

Question no.
and text

29-1-3. o] 2] Hol= o 3
AR 7E?

29-1-3. How old is [Person]?

Codes/
Categories

[18] 18 Al

[18] 18 years old

[92] 92 A

[92] 92 years old

Interviewer
Instruction

Translation
Note

Note

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers)

Country Variable Codes/Construction Rules =2BIRTH
If Q29-1-1=1 and Q29-1-3=18 1992
If Q29-1-1=1 and Q29-1-3=92 1918

If Q29-1-1=1 and Q29-1-3=888 9999. No answer

AGE - Age of respondent

National Language English Translation

Question no.
and text

29-1-87 0] 9] yol= oz Bl
e R R

29-1-3. How old is [Person]?

Codes/
Categories

[18] 18 Al

[18] 18 years old

[92] 92 Al

[92] 92 years old

Interviewer
Instruction

Translation
Note

Note

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers)

Country Variable Codes/Construction Rules

=2 AGE

Construction

If Q29-1-1=1, AGE=Q29-1-3

Codes

(18]

[lowest]




[92] [highest]

If Q29-1-3=888, AGE=999 999. No answer, refused

EDUCYRS - R: Education I: years in school

National Language English Translation
Question no. | 31, #|5t= st = o{C|7}K| 39. What is the highest level of school
and text CHIAA LT you have attended?
Codes/ (00) -3} (00) No schooling
Categories | (01) =% (=r)stu (01) Elementary school
(02) =8t (02) Junior high school
(03) a5 8k (03) High school
(04) = g3 dA) (04) Junior college(2 or 3 year cours)
(05) thgkal (4 A A) (05) University (4 year course)
(06) i sH (A AF2H4) (06) Graduate school (masters)
(07) B et (HhAFA) (07) Graduate school (phd)
(08) A, g3t (08): Seodang, Hanhak (old style non-
formal education)
Question no. | 31.1. °] St = Y4572 39.1. Did you graduate from this school,
and text or.are you currently attending?
Codes/ O &3 @ Graduated
Categories | @ 5 gt} 2 Dropped out
@ At Foltt @ Currently attending
Question no. | 31.2. ¥ shd uj Z B8} 5 5 72 39.2. In what grade did you drop out?
and text
Codes/
Categories ghd Grade
Question no. | 31.3. &A% shd } 7?2 39.3. What grade are you in?
and text
Codes/
Categories |__  shd __ Grade
Translation
Note
Note Codes for Q31: From the 2006 KGSS, the code “‘graduate school’ in previous years
is separated into two different codes, specifying ‘masters’ and ‘phd’ degrees.

Filter Variable(s) and Conditions:

Q31. Ask all

Q31.1. To be answered by those who have attended formal school (Codes 1-7 in Q31)
Q31.2. To be answered by those who had dropped out (code 2 in Q31.1)

Q31.3. To be answered by those who are currently attending (code 3 in Q31.2)

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers)

Country Variable Codes/Construction Rules = EDUCYRS

If Q31=0 or 8, then EDUCYRS=0 0. No formal schooling

[1] [lowest]




[22]

[highest]

If Q31=88 or Q31.1=8 or Q31.2=8 or Q31.3=8, then EDUCYRS=98

98. Don’t know

- Not used

99. No answer, refused

Optional: Recoding Syntax

if(educ=0) educyrs=0.

if(educ=8) educyrs=0.

if(educ=1 and graduate=1) educyrs=6.

if(educ=2 and graduate=1) educyrs=9.

if(educ=3 and graduate=1) educyrs=12.

if(educ=4 and graduate=1) educyrs=14.

if(educ=5 and graduate=1) educyrs=16.

if(educ=6 and graduate=1) educyrs=18.

if(educ=7 and graduate=1) educyrs=22.

if(educ=1 and graduate=2 and dropyr=1) educyrs=1.
if(educ=1 and graduate=2 and dropyr=2) educyrs=2.
if(educ=1 and graduate=2 and dropyr=3) educyrs=3.
if(educ=1 and graduate=2 and dropyr=4) educyrs=4.
if(educ=1 and graduate=2 and dropyr=5) educyrs=5.
if(educ=1 and graduate=2 and dropyr=6) educyrs=6.
if(educ=2 and graduate=2 and dropyr=1) educyrs=7.
if(educ=2 and graduate=2 and dropyr=2) educyrs=8.
if(educ=2 and graduate=2 and dropyr=3) educyrs=9.
if(educ=3 and graduate=2 and dropyr=1) educyrs=10.
if(educ=3 and graduate=2 and dropyr=2) educyrs=11.
if(educ=3 and graduate=2 and dropyr=3) educyrs=12.
if(educ=4 and graduate=2 and dropyr=1) educyrs=13.
if(educ=4 and graduate=2 and dropyr=2) educyrs=14.
if(educ=4 and graduate=2 and dropyr=3) educyrs=15.
if(educ=5 and graduate=2 and dropyr=1).educyrs=13.
if(educ=5 and graduate=2.and dropyr=2) educyrs=14.
if(educ=5 and graduate=2 and dropyr=3) educyrs=15.
if(educ=5 and graduate=2 and dropyr=4) educyrs=16.
if(educ=6 and graduate=2 and'dropyr=1) educyrs=17.
if(educ=6 and graduate=2.and dropyr=2) educyrs=18.
if(educ=7 and graduate=2 and dropyr=1) educyrs=19.
if(educ=7 and graduate=2 and dropyr=2) educyrs=20.
if(educ=7 and graduate=2 and dropyr=3) educyrs=21.
if(educ=7and graduate=2 and dropyr=4) educyrs=22.
if(educ=1 and graduate=3 and curryr=1) educyrs=1.
if(educ=1 and graduate=3 and curryr=2) educyrs=2.
if(educ=1 and graduate=3 and curryr=3) educyrs=3.
if(educ=1 and graduate=3 and curryr=4) educyrs=4.
if(educ=1 and graduate=3 and curryr=5) educyrs=5.
if(educ=1 and graduate=3 and curryr=6) educyrs=6.
if(educ=2 and graduate=3 and curryr=1) educyrs=7.
if(educ=2 and graduate=3 and curryr=2) educyrs=8.
if(educ=2 and graduate=3 and curryr=3) educyrs=9.
if(educ=3 and graduate=3 and curryr=1) educyrs=10.
if(educ=3 and graduate=3 and curryr=2) educyrs=11.
if(educ=3 and graduate=3 and curryr=3) educyrs=12.
if(educ=4 and graduate=3 and curryr=1) educyrs=13.
if(educ=4 and graduate=3 and curryr=2) educyrs=14.




if(educ=4 and graduate=3 and curryr=3) educyrs=15.
if(educ=5 and graduate=3 and curryr=1) educyrs=13.
if(educ=5 and graduate=3 and curryr=2) educyrs=14.
if(educ=>5 and graduate=3 and curryr=3) educyrs=15.
if(educ=5 and graduate=3 and curryr=4) educyrs=16.
if(educ=6 and graduate=3 and curryr=1) educyrs=17.
if(educ=6 and graduate=3 and curryr=2) educyrs=18.
if(educ=7 and graduate=3 and curryr=1) educyrs=19.
if(educ=7 and graduate=3 and curryr=2) educyrs=20.
if(educ=7 and graduate=3 and curryr=3) educyrs=21.
if(educ=7 and graduate=3 and curryr=4) educyrs=22.
if(educ=5 and graduate=3 and curryr=>5) educyrs=16.
if(educ=6 and graduate=3 and curryr=3) educyrs=18.

if(educ=88) educyrs=98.
if(graduate=8) educyrs=98.
if(dropyr=8) educyrs=98.
if(curryr=8) educyrs=98.

nat_ DEGR - Country-specific degrees of education

National Language English Translation
Question no. | 31, 7|5t= stm= o{C|7HK| 31. What is the highest level of school
and text CHAIA LT you have attended?
Codes/ (00) 3} (00) No schooling
Categories | (01) =5 (=9)a] 1 (01) Elementary school
(02) =3shal (02) Junior high school
(03) a5 (03) High school
(04) AFE-heH(2-3 W Al) (04) Junior college(2 or 3 year cours)
(05)-th &k (43 A)) (05) University (4 year course)
(06) th ek (24121 4) (06) Graduate school (masters)
(07) ek (2hAF2H) (07) Graduate school (phd)
(08) A, <t} (08) Seodang, Hanhak (old style non-
formal education)
Question no. | 31.1. ¢] S+t = ZHH A FY7? 31.1. Did you graduate from this school,
and text or are you currently attending?
Codes/ O =gyt D Graduated
Categories | @) =& gt} (2 Dropped out
@ Agsoltt @ Currently attending

Filter Variable(s) and Conditions:

Q 39: Ask all

Q 39.1: To be answered by those who have attended formal school (code 1-7 at question 31)

Construction/Recoding:

Country Variable Codes/Construction Rules

= nat DEGR

If Q31=0 or If Q31=8, then NAT_DEGR=1

1. No formal schooling




If Q31=1 and Q31.1=2 or 3, then NAT_DEGR=2

. Elementary incompleted

If Q31=1 and Q31.1=1, then NAT_DEGR=3

. Elementary completed

If Q31=2 and Q31.1= 2 or 3, then NAT_DEGR=4

. Middle school incompleted

If Q31=2 and Q31.1=1, then NAT_DEGR=5

. Middle school completed

If Q31=3 and Q31.1=2 or 3, then NAT_DEGR=6

. High school incompleted

If Q31=3 and Q31.1=1, then NAT_DEGR=7

. High school completed

If Q31=4 and Q31.1=2 or 3, then NAT_DEGR=8

. Junior college incompleted

If Q31=4 and Q31.1=1, then NAT_DEGR=9

O[NNI WIN

. Junior college completed

If Q31=5 and Q31.1=2 or 3, then NAT_DEGR=10

[EE
o

. University incompleted

If Q31=5and Q31.1=1, then NAT_DEGR=11

[
(=Y

. University completed

If Q31=6 and Q31.1=2 or 3, then NAT_DEGR=12

=
N

. Masters degree incompleted

If Q31=6 and Q31.1=1, then NAT_DEGR=13

[y
w

. Masters degree completed

If Q31=7 and Q31.1=2 or 3, then NAT_DEGR=14

H
o

. Doctoral degree incompleted

If Q31=7 and Q31.1=1, then NAT_DEGR=15

[EY
ol

. Doctoral degree completed

If Q31=88 or Q31.1=8, then NAT_DEGR=98

©
[0}

. Don’t know

DEGREE — R: Education ll:‘categories

National Language

English Translation

Question no. | 31, |5t st mZ oK
and text ChA & LIt

31. What is the highest level of school
you have attended?

Codes/ (00) -5}

(00) No schooling

Categories | (01) 25 (% v1)3taL

(01) Elementary school

(02) Zstal

(02) Junior high school

(08) L5 Skl

(03) High school

(04) - gH(2-3 W A)

(04) Junior college(2 or 3 year cours)

(05) th&}aL (4 A A)

(05) University (4 year course)

(06) o 3 A (A1 AH213)

(06) Graduate school (masters)

(07) thshel (AFAHA)

(07) Graduate school (phd)

(08) A, gk}

(08) Seodang, Hanhak (old style non-
formal education)

Construction/Recoding:

Country Variable Codes/Construction Rules

= DEGREE

If Q31=0 or Q31=8, then DEGREE=0

No schooling

If Q31=1, then DEGREE=1

Elementary school

If Q31=2 then DEGREE=2

Junior high school

If Q31=3, then DEGREE=3

High school

If Q31=4, then DEGREE=4

Junior college(2 or 3 years cours)

If Q31=5, then DEGREE=5

University degree completed

If Q31=6, then DEGREE=6

SHEAEIIS AN fal FS

Graduate school(masters)




If Q31=7, then DEGREE=7

7. Graduate school(phd)

If Q31=88, then DEGREE=9

9. No answer

WORK - Currently, formerly or never in paid work

National Language

English Translation

Questionno. | 36. @A #Ast= o] A= 45 36. Do you have a job that provides
and text star AlH Y 7E? income?

Codes/ O €4 @D Yes

Categories | @ o}u} @ No

Question no. | 36.19 % A= A5 ;MHEA AFo] | 36-19. Have you ever had a paid job?
and text Ao 4Y7?

Codes/ O A @D Yes

Categories | @ ¢t} @ No

Filter Variable(s) and Conditions:

Q36: Ask all

Q36.19: To be answered by those who are not currently working:(code 2 in Q36)

Construction/Recoding:

Country Variable Codes/Construction Rules

2> WORK

If Q36=1, then WORK=1

1. Currently in paid work

If Q36=2 and Q36.20=1, then WORK=2

2. Currently not in paid work, paid work
in the past

If Q36=2 and Q36.20=2, then WORK=3

3. Never had paid work

If Q36=2 and Q36.20=8, then WORK=9
If Q36=8, then WORK=9

99. No answer

WRKHRS — Hours worked weekly

National Language

English Translation

Question no. | 36.4./36.11 5ol H+F H A7 36.4/36.11. How many hours a week do
and text g3 U7k you usually work?

Codes/ Al ZF Hours

Categories | (888) <, =2 AT} (888) No answer, DK

Interviewer

Instruction




Translation
Note

Note

Filter Variable(s) and Conditions:

Q36.4: To be answered by those who are currently employed (code 1 in WORK)
Q36.11: To be answered by those who are currently self-employed (code 1 in WORK)

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers)

Country Variable Codes/Construction Rules

2>WRKHRS

3]

[lowest]

[140]

[highest]

If WORK=1 and Q36.4 ge 96 or Q36.11 ge 96, then
WRKHRS=96

96. 96 hours or more

If WORK=1 and Q36.4=888 and Q36.11=888,
WRKHRS=98
If WORK=1 and Q36.4=888 and Q36.11=999,
WRKHRS=98
If WORK=1 and Q36.4=999 and Q36.11=888,
WRKHRS=98

then

then

then

98. Don’t know

If WORK=1 and Q36.4=999 and Q36.11=999,
WRKHRS=99
If WORK=9, then WRKHRS=99

then

99. No answer

If WORK=2 or WORK=3, then WRKHRS=0

0. NAP (Code 2 or 3 in WORK)

EMPREL — Employment relationship

National Language English Translation

Question no. { 36.1 7ol o] &l 3185 o] 36-1. Do you work for someone else?
and text AU 7H?
Codes/ © 28t} @ Yes
Categories: | @ o}t} @ No
Question no. | 36.9 L-&xo] A e 36-9. Are you working for the family,
and text BEH7EEAALA Y7L, 189 $lo] self-employed with no employees, or

A9 AL sHYU7, 18YE T self-employed with employees?

AR S s U7
Codes/ O FH7FEFAA (D Working for the family
Categories | @ 1g<lo] gl 29 @ Self-employed with no employees

@ 1&ds = AT @ Self-employed with employees
Question no. | 36.20 74 ol ol dS 36-20 What type of job did you have at
and text SR E Y7L that time?
Codes/ @© AH-o] vag (D Worked for government
Categories | @ AL7]¢le] 91891 (2 Worked for private firm




10

Employees

@ F7I9e] gl 3 Worked for publicly owned firm

@ Fo71#e] 9agl @ Worked for non-profit
organization

©® FH7FEFARA (5 Worked for the family

® 1Lg&9o] = AFGAt ® Self-employed with no

@

(@ Self-employed with employees

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work

Q36.1: To be answered by those who are working for someone else (code 1 in Q36.1)
Q36.9: To be answered by those who are currently self-employed (code 2 in Q36:1)
Q36-20. To be answered by those who have had a paid work (code 2 in WORK).

Construction/Recoding:

Country Variable Codes/Construction Rules

2>EMPREL

If WORK=1 and Q36.1=1, then EMPREL=1
If WORK=2 and Q36.20<=4, then EMPREL=1

1. Employee

If WORK=1 and Q36.1=2 and Q36.9=2,
EMPREL=2
If WORK=2 and Q36.20=6, then EMPREL=2

then

2. Self-employed without employees

If WORK=1 and Q36.1=2 and Q36.9=3,
EMPREL=3
If WORK=2 and Q36.20=7, then EMPREL=3

then

3. Self-employed with employees

If WORK=1 and Q36.1=2 ‘and Q36.9=1,
EMPREL=4
If WORK=2 and Q36.20=5, then EMPREL =4

then

4. Working for own family’s business

If WORK=1 and Q36.1=8, then EMPREL=9
If WORK=2 and Q36.20=8, then EMPREL=9

9. No answer

If WORK=3, then EMPREL=0

0. NAP(Code 3 in WORK)

NEMPLOY - Self-employed: how many employees

National Language English Translation
Question no. (ZELYE F AEFE4) (IF SELF-EMPLOYED WITH
and text 36.9.1/36.20.1 ¥ W& a&3tal EMPLOYEES)
A& 7H? 36.9.1/36.20.1 How many employees
do you employ?
Codes/ - NUMBER OF EMPLOYEES:
Categories




Filter Variable(s) and Conditions:

11

Ask if EMPREL=3, respondent self-employed with employees
Question 36.9.1: To be answered by those who are self-employed with employees (code 3 in

EMPREL)

Question 36.20.1: To be answered by those who have worked as self-employed with employees

(code 3 in EMPREL)

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers)

Country Variable Codes/Construction Rules 2>NEMPLOY
[1] [lowest]
[60] [highest]
- not used 9995. employees or more

If EMPREL=3 and Q36.9.1=888 and Q36.20.1=888, then
NEMPLOY=9999

If EMPREL=3 and Q36.9.1=999 and Q36.20.1=888, then
NEMPLOY=9999

If EMPREL=3 and Q36.9.1=888 and Q36.20.1=999, then
NEMPLOY=9999

If EMPREL=3, then NEMPLOY=9999

9999. No answer

If EMPREL=3 and Q36.9.1=999 and Q36.20.1=999, then
NEMPLOY=9999
If EMPREL=1 or 2 or 4 or 0, then NEMPLOY=0

0. NAP (Code 1,2,4,0 in EMPREL)

WRKSUP - Supervise other employees

National Language English Translation
Question no.. | 36.14.1° 713t7} G-l A &, 36.14.1 How many subordinates do
and text AEShe St ol 2 WU t? you have in your workplace whom
you manage and supervise?
Codes/ .
Categories ° persons
Questionno. | 36.14.2 #3t7F el A A4 e, | 36.14.2 Do you have a subordinate
and.text = Fep ol sy r? at your workplace for whom you are
directly responsible?
Codes/ @© At @D Yes
Categories @ gt} @ No
Questionno. | 36.21 71 45 stxla o FAst7k 24 | 36.21 Did you have a subordinate at
and text we], FHEsks Hek 2ol your workplace for whom you were
A5 Y7 directly responsible?
Codes/ O ARt @D Yes
Categories @ 2t @ No




Filter Variable(s) and Conditions:

12

working for pay (code 2 in WORK)

Ask if WORK=1 or 2, respondent in current or past paid work
Q36.14.2 : To be answered by those who are currently working (code 1 in WORK)
Q36.21: To be answered by those who are currently not working but had an experience of ever

Construction/Recoding:

Country Variable Codes/Construction Rules

=2>WRKSUP

If WORK=1 and Q36.14.1<=800 and Q36.14.1>=1 or
Q36.14.2=1, then WRKSUP=1

If WORK=1 and Q36.14.1=888 or Q36.14.2=1, then
WRKSUP=1

If WORK=2 and Q36.21=1, then WRKSUP=1

1. Yes

If WORK=1 and Q36.14.1=0 or Q36.14.1=888 or
Q36.14.2=2, then WRKSUP=2
If WORK=2 and Q36.21=2, then WRKSUP=2

2. No

If WORK=1 and Q36.14.1=888 and Q36.14.2=8, then
WRKSUP=9

If WORK=2 and Q36.21=8, then WRKSUP=9

If WORK=9, then WRKSUP=9

9. No answer

If WORK=1 and Q36.14.1=999 and Q36.14.2=9, then
WRKSUP=0

If WORK=2 and Q36.21=9, then WRKSUP=0

If WORK=3, then WRKSUP=0

0. NAP (Code 3 in WORK)

NSUP - Number of other employees supervised

National Language English Translation
Questionno. | 36.14.1 7387} Aol A e, 36.14.1 How many subordinates do
and text HEets Feb el 2 WAy you have in your workplace whom

you manage and supervise?
Codes/ .
Categories ° persons
Note
Filter Variable(s) and Conditions:
\ Ask if WRKSUP=1, the respondent is responsible for supervising other employees
Construction/Recoding:
Country Variable Codes/Construction Rules 2>WRKSUP




13

If WORK=1 and Q36.14.1<=800 and Q36.14.1>=1 or
Q36.14.2=1, then WRKSUP=1

If WORK=1 and Q36.14.1=888 or Q36.14.2=1, then
WRKSUP=1

If WORK=2 and Q36.21=1, then WRKSUP=1

1. Yes

If WORK=1 and Q36.14.1=0 or Q36.14.1=888 or
Q36.14.2=2, then WRKSUP=2
If WORK=2 and Q36.21=2, then WRKSUP=2

2. No

If WORK=1 and Q36.14.1=888 and Q36.14.2=8, then
WRKSUP=9

If WORK=2 and Q36.21=8, then WRKSUP=9

If WORK=9, then WRKSUP=9

9. No answer

If WORK=1 and Q36.14.1=999 and Q36.14.2=9, then
WRKSUP=0

If WORK=2 and Q36.21=9, then WRKSUP=0

If WORK=3, then WRKSUP=0

0. NAP (Code 3 in WORK)

TYPORGL1 — Type of organisation;

for-profit/non-profit

National Language English Translation
Question no. 36. AA Azl Yol A= I 36. Do you have a job that provides
and text 3t AN Y72 income?
Codes/ == @D Yes
Categories @ oluth @ No
Question no. 36 1 7 ol o)l 185 36.1. Do you work for someone else?
and text AE5Y7H?
Codes/ D13} @D Yes
Categories @ ofuch @ No
Question no. 36.7 Aste] AF ZH, T714Y, 36.7 Are you employed by the
and text A1, o7 = oo government, a publicly owned firm, a
3 g 712 private firm, or a non-profit
organization?
Codes/ O K- (D Government
Ty @ ¥4 @ Publicly owned firm
@ A4 @ Private firm
@ s ® Non-profit organization
Question no. 6.19 < A= IS rA HFo] | 36.19 Have you ever worked for pay?
and text o A7t
Codes/ D ¥ @D Yes
Categories @ oo @ No
Question no. 36.20 7Hg FH el od d& 36.20 What type of job did you have
and text sH 5 U712 lately?
Codes/ O AH-o 7agl (D Worked for government
Categories @ A71de] gl (2 Worked for private firm
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@ F719e] gl 3 Worked for publicly owned firm
@ F)7|¢e] Hugd @ Worked for non-profit organization
©® FE7HE FAR (© Worked for the family

® aLg&o] = AGA ® Self-employed with no employees
@ 189S F AT (D Self-employed with employees

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work

Question 36.1: Ask only those who are currently working (code 1 in WORK)

Question 36.7: To be answered by those who are working for someone else (code 1 in Q36.1)
Question 36.20: To be answered by those who are currently not working but has ‘ever worked for

pay (code 2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

2 TYPORG1

If WORK=1 and Q36.1=1 and Q36.7=2 or Q36.7=3,
then TYPORG1=1

IF WORK=2 and Q36.20=2 or. Q36.20=3, then
TYPORG1=1

1. For-profit organisation

If WORK=1 and Q36.1=1 and Q36.7=1 or Q36.7=4,
then TYPORG1=2

IF WORK=2 and Q36.20=1 or Q36.20=4, then
TYPORG1=2

2. Non-profit organisation

If WORK=1 and Q36.1=1 and Q36.7=8, then
TYPORG1=8
IF WORK=2 and Q36.20=8, then TYPORG1=8

8. Don’t know

If WORK=1 and Q36.1=9, then TYPORG1=9
IF WORK=2and Q36.20=9, then TYPORG1=9
If WORK=9, then TYPORG1=9

9. No answer

IfWORK=1 and Q36.1=2, then TYPORG1=0
If WORK=2 and Q36.20=5 or 6 or 7, then
TYPORG1=0

If WORK=3, then TYPORG1=0

0. NAP (Code 3 in WORK)

TYPORG2 — Type of organisation, public/private

National Language

English Translation
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Question no. 36. AA A= Fdol de s 36. Do you have a job that provides
and text skal AN Y72 income?
Codes/ O=1=1 @D Yes
Categories @ olutt @ No
Question no. 36.1 Ft 7ol ol&)] 318 36.1. Do you work for someone else?
and text AU 7k
Codes/ O=1=1 @D Yes
Categories @ olutt @ No
Question no. 36.7 FAste] AL AR FI)Y, 36.7 Are you employed by the
and text A1, F971E S ool government, a publicly owned firm, a
3 gk 712 private firm, or a non-profit
organization?
Codes/ O A5 (D Government
Categories @ 74 @ Publicly owned firm
@ A714 @ Private firm
@ =z @ Non-profit organization
Question no. 36.19 ¢ A= LS dRA HFo] | 36.19 Have you ever worked for pay?
and text ol 0 A1 712
Codes/ @O At @D Yes
Categories @ et @ No
Question no. 36.20 7Hg FH 2o ofW I 36.20 What type of job did you have
and text R HFY7E? lately?
Codes/ @O A9 vagQl (D Worked for government
Categories @ A1) wag9l (2 Worked for private firm
® F719e] sl @ Worked for publicly owned firm
@ Fol7)e] Harg-l @ Worked for non-profit organization
© Fa37H5 SAR (5 Worked for the family
® o] = AF At ® Self-employed with no employees
@ 1gLs F AATF (@ Self-employed with employees

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work

Question-36.1:Ask only those who are currently working (code 1 in WORK)

Question 36.7: To be answered by those who are working for someone else (code 1 in Q36.1)
Question 36.20: To be answered by those who are currently not working but has ever worked for
pay (cade 2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

=2 TYPORG2
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If WORK=1 and Q36.1=1 and Q36.7=1 or Q36.7=2,
then TYPORG2=1

IF WORK=2 and Q36.20=1 or Q36.20=3,

TYPORG2=1

then

1. Public employer

If WORK=1 and Q36.1=1 and Q36.7=3 or Q36.7=4,
then TYPORG2=2
IF WORK=2 and Q36.20=2 or Q36.20=4, then

TYPORG2=2

2. Private employer

If WORK=1 and Q36.1=1 and Q36.7=8,

TYPORG2=8

then

IF WORK=2 and Q36.20=8, then TYPORG2=8

8. Don’t know

If WORK=1 and Q36.1=9, then TYPORG2=9
IF WORK=2 and Q36.20=9, then TYPORG2=9
If WORK=9, then TYPORG2=9

9. No answer

If WORK=1 and Q36.1=2, then TYPORG2=0
If WORK=2 and Q36.20=5 or 6 or 7, then

TYPORG2=0

If WORK=3, then TYPORG2=0

0. NAP (Code 3 in WORK)

ISCO88 - Occupation ISCO 1988

National Language

English Translation

Questionno. | 36. @A Fst= Fel U= L& 36. Do you have a job that provides

and text skar AN Y7 income?

Codes/ O 2€o @ Yes

Categories ® o}y @ No

Questionno. | 36.19. = U= d& HEA F o] | 36.19. Have you ever worked for pay?

and text oA 71

Codes/ @© A @ Yes

Categories @ Sl @ No

Questionno. | 37. 718k oW AFdellA oW F72] | 37. What kind of work do you

and text AE AU7? FAA o m wEE normally do? What do you actually
TAHAL. A4 45 5hA g do in that job? If currently not
SAthd 7Hg el A el WsiA | working, tell me about your last job.
dEa] FAA L.
37.2: A4 37.2: occupation

Codes/

Categories

deviating from

ISCO88/

ISCO88-COM

Interviewer

Instruction

Translation

Note

Note
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Use of ISCO ISCO88 (ILO)

ISCO88-COM (EU variant)
Other ISCO88 variant

o
O
O—please specify

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in corrent or past paid work
Q37.2: To be answered by those who are currently working or those who have ever worked-for pay
for one year or more (code 2 in Q36 and code 1 in Q36.19)

Construction/Recoding:

Country Variable Codes/Construction Rules = I1SCO88
ISCO88=Q37.2
If WORK=1 or WORK=2 and Q37.2=88888, | 9998 Don’t know
ISCO88=9998
If WORK=1 or WORK=2 and Q37.2=99999, | 9999 No answer
ISCO88=9999

If WORK=9, then ISCO88=9999

If WORK=0 or WORK=3, then ISCO88=0

0.NAP(Code 3 in WORK)

MAINSTAT — Main status

National Language English Translation

Question no. | 36.. @A sk T A= 45 36. Do you have a job that provides
and text skal Al A Yz income?
Codes/ O 1Fo¥ Yes
Categories ® oYtk No

@ oyt No
Question.no. .29.1.8. (Y3t A b)) dstar | 29.1.8. (IF NOT WORKING) What is
and text AA ke T F Q3 o] fF= the primary reason for unemployment?

FAYU7E?
Codes/ (01) g&En< (01) Below school age
Categories (02) A8k (02) Schooling

(03) 7FA} (03) Staying at home

(04) =+ (04) Old age

(05) A+ (05) Iliness

(06) 4417l (06) Disabled

(07) AAFA (07) Temporarily not working

(08) A4 (08) Unemployed

(09) <& (09) Retired
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(10) A== (10) Retired under the age limit
(11) HAAEH] (11) Preparing to begin work
(12) &5% (12) Doing study

(13) +4d (13) In military service

(14) A4 =) (14) Business failure

(15) AAQZ = (15) Not intending to work
(16) ZA&FH] (16) Preparing to get married
(17) A o] (17) For religious reasons
(18) 7t =457 94l (18) To care for the family
(19) ALE 59 glolA (19) No abiliy to get work
(20) Al (20) pregnancy

(21) A3 (21) Traveling

(77) 718k (FA ) (77) OTHER (SPECIFY:_ )

Filter Variable(s) and Conditions:

Q36: Ask all

Q29-1-8. To be answered by those who are currently not working.

Construction/Recoding:

Country Variable Codes/Construction‘Rules =2>MAINSTAT
If Q36=1, then MAINSTAT=1 1. In paid work
If Q29.1.8=8 or 11or 14, then MAINSTAT=2 2. Unemployed and looking for a job
If Q29.1.8=2 or 12, then MAINSTAT=3 3. In education

- 4. Apprentice or trainee

If Q29.1.8=5 or 6, then MAINSTAT=5 5. Permanently sick or disabled
If Q29.1.8=9 or 10, then MAINSTAT=6 6. Retired
If Q29.1.8=3.0r 18, thenMAINSTAT=7 7. Domestic work
If Q29.1:8=13, then MAINSTAT=8 8. In compulsory military service or

community service

If Q29.1.8=4 or 7 or 15 or 16 or 17 or 19 or 20 or 21 or
77, then MAINSTAT=9

9. Other

If. Q29.1.8=88, then MAINSTAT=99
If Q36=8, then MAINSTAT=99

99. No answer

PARTLIV — Living in steady partnership

National Language

English Translation

Question no. | 29.1.4. o] &9 EdH= 71&, A,
and text o], A, WE, 7 A oy

29.1.4. Is [PERSON] now married, widowed,
divorced, separated, cohabiting, or never married?
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7R
Codes/ O 71& (D Married
Categories | @ Apg @ Widowed
@ o] & 3 Divorced
@ H3A (@) Separated
® "= (® Never married
® A ® Cohabiting

Construction/Recoding:

Country Variable Codes/Construction Rules

=>» Marital

If Q29.1.4=1 or 6, then PARTLIV=1

1. Yes, have partner; live'in same
household

If Q29.1.4=4, then PARTLIV=2

2. Yes, have partner; don’t live in same
household

If Q29.1.4=2 or 3 or 5, then PARTLIV=3

3. No partner

If Q29.1.4=8

7. Refused

SPWORK — SP: Currently, formerly or never in paid work

National L.anguage

English Translation

Question no. | 38. Al FAste Fdol dv= S 38. Do you have a job that provides
and text st AAY 782 income?

Codes/ O gt @D Yes

Categories @ o}tk @ No

Question no. | 38.17 =Sugl= A& @fEAl A3lo] | 38-17. Have you ever had a paid job?
and text Ao Y 7k2

Codes/ ®© A D Yes

Categories | @ gt} @ No

Filter VVariable(s) and Conditions:

Q38: Ask all

Q38.17: To be answered by those who are not currently working (code 2 in Q38)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWORK

If PARTLIV=1 and Q38=1, then SPWORK=1
If PARTLIV=2 and Q38=1, then SPWORK=1

1. Currently in paid SPWORK
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If PARTLIV=1 and
SPWORK=2
If PARTLIV=2 and
SPWORK=2

Q38=2 and Q38.17=1, then

Q38=2 and Q38.17=1, then

2. Currently not in paid SPWORK, paid
SPWORK in the past

If PARTLIV=1 and
SPWORK=3
If PARTLIV=2 and
SPWORK=3

Q38=2 and Q38.17=2, then

Q38=2 and Q38.17=2, then

3. Never had paid SPWORK

If PARTLIV=1 or 2 and Q38=8 or 9, then SPWORK=3
If PARTLIV=1 or 2 and Q38=2 and Q38.17=8 or 9,
then SPWORK=3

99. No answer

If PARTLIV=3, then SPWORK=0

0. NAP(Code 3 in PARTLIV)

SPWRKHRS — SP: Hours worked weekly

National Language

English Translation

Question no.

and text

38.4./38.10 & ol H & A 7F
A3 Y72

38.4/38.10. How many hours a week do
you usually work?

Codes/
Categories

A3

Hours

(888) o, EATH

(888) No answer, DK

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s).and Conditions:

Q36.4: To be answered by those who are currently employed (code 1 in SPWORK)
Q36.11: To be answered by those who are currently self-employed (code 1 in SPWORK)

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers)

Country Variable Codes/Construction Rules

=2 SPWRKHRS

[4]

[lowest]

[144]

[highest]

If SPWORK=1 and Q38.4 ge 96 or Q38.10 ge 96, then
SPWRKHRS=96

96. 96 hours or more

If SPWORK=1 and Q38.4=888 and Q38.10=888, then
SPWRKHRS=98
If SPWORK=1 and Q38.4=888 and Q38.10=999, then
SPWRKHRS=98
If SPWORK=1 and Q38.4=999 and Q38.10=888, then
SPWRKHRS=98

98. Don’t know

If SPWORK=1 and Q38.4=999 and Q38.10=999, then

99. No answer
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SPWRKHRS=99
If SPWORK=9, then SPWRKHRS=99

If SPWORK=2 or SP WORK=3, then SPWRKHRS=0

0. NAP (Code 2 or 3 in SPWORK)

SPEMPREL — SP: Employment relationship

National Language

English Translation

Question no. | 38.1 *F-7fell of&) 3185 o] 38-1. Do you SPWORK for someone
and text QLU 7t? else?
Codes/ O 2"E4 @D Yes
Categories @ o}t @ No
Question no. | 38.8 L-g%o] U] e 38-8. Are you working for the family,
and text FEH7MEEAAY U7, 189 glo] self-employed with no employees, or

s sV, 189S Fu self-employed with employees?

AHlS skl U7k
Codes/ O FF7HEFAA (D working for the family
Categories | @ 1&9o] gl A9= @) Self-employed with no employees

@ 1g&ds F AT @ Self-employed with employees
Question no. | 36.18 7} <ol ojH &S 36-18 What type of job did you have at
and text SR U7 that time?
Codes/ @O 49 9ag2l (D worked for government
Categories | @ A}7]¢Je] ¥]aig-<l (@ worked for private firm

@ F7IHe] Farggl @ worked for publicly owned firm

@ Fol7| e 9agel @ worked for non-profit

organization
© S ZSFAA (5 worked for the family
©) LgdolRle= A A ® Self-employed with no
Employees
@ 1&H9s & AT (D Self-employed with employees

Filter Variable(s) and Conditions:

Ask if SPWORK-=1 or 2, respondent in current or past paid work

Q38.1:To be answered by those who are working for someone else (code 1 in Q36.1)
Q38.8: To be answered by those who are currently self-employed (code 2 in Q36.1)
038.18. To be answered by those who have had a paid work (code 2 in SPWORK).

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPEMPREL

If SPWORK=1 and Q38.1=1, then SPEMPREL=1
If SPWORK=2 and Q38.18<=4, then SPEMPREL=1

1. Employee

If SPWORK=1 and Q38.1=2 and Q38.9=2,

then

2. Self-employed without employees
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SPEMPREL=2
If SPWORK=2 and Q38.18=6, then SPEMPREL=2

If SPWORK=1 and Q38.1=2 and Q38.9=3, then
SPEMPREL=3
If SPWORK=2 and Q38.18=7, then SPEMPREL=3

3. Self-employed with employees

If SPWORK=1 and Q38.1=2 and Q38.9=1, then
SPEMPREL=4
If SPWORK=2 and Q38.18=5, then SPEMPREL=4

4. working for own family’s business

If SPWORK=1 and Q38.1=8, then SPEMPREL=9
If SPWORK=2 and Q38.18=8, then SPEMPREL=9
If SPWORK=9, then SPEMPREL=9

9. No answer

If SPWORK=3, then SPEMPREL=0

0. NAP(Code 3 in SPWORK)

SPWRKSUP — SP: Supervise other employees

National Language

English Translation

Questionno. | 38.12.1 F3t7} G-l A &, 38.12.1 How many subordinates do

and text sk Foh ol B iyt you have in your workplace whom
you manage and supervise?

Codes/ »

Categories ° PErsons

Questionno. | 38.12.2 7Ast7} Aol A 24 #e], | 38.12.2 Do you have a subordinate

and text sk Hokgelel SlEu7k? at your workplace for whom you are
directly responsible?

Codes/ @ A @D Yes

Categories @ STt @ No

Questionno. | 38v19 I 4& stilEs w At AA
and text 7+ °

38.19 Did you have a subordinate at
your workplace for whom you were

v, 2 el

AN U7}L? directly responsible?
Codes/ @ At @D Yes
Categories @ ot @ No

Filter VVariable(s) and Conditions:

Ask if SPWORK=1 or 2, respondent in current or past paid work
Q38.12.2 : To be answered by those who are currently working (code 1 in SPWORK)
Q38.19: To be answered by those who are currently not working but had an experience of ever

working for pay (code 2 in SPWORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWRKSUP

If SPWORK=1 and Q38.12.1<=800 and Q38.12.1>=1
or Q38.12.2=1, then SPWRKSUP=1

1.Yes
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If SPWORK=1 and Q38.12.1=888 or Q38.12.2=1, then
SPWRKSUP=1
If SPWORK=2 and Q38.19=1, then SPWRKSUP=1

If SPWORK=1 and Q38.12.1=0 or Q38.12.1=888 or | 2. No
Q38.12.2=2, then SPWRKSUP=2

If SPWORK=2 and Q38.19=2, then SPWRKSUP=2

If SPWORK=1 and Q38.12.1=888 and Q38.12.2=8, | 9. No answer

then SPWRKSUP=9
If SPWORK=2 and Q38.19=8, then SPWRKSUP=9
If SPWORK=9, then SPWRKSUP=9

If SPWORK=1 and Q38.12.1=999 and Q38.12.2=9,

then SPWRKSUP=0
If SPWORK=2 and Q38.19=9, then SPWRKSUP=0
If SPWORK=3 or SPWORK=0, then SPWRKSUP=0

0. NAP (Code 3 in SPWORK)

SPISCO88 — SP: Occupation ISCO 1988

National Language English Translation
Questionno. | 38. A} Flst= sl As L= 38. Do you have a job that provides
and text skaL AlHY7E? income?
Codes/ © 2t @D Yes
Categories @ olyt} @ No
Questionno. | 38.17. &% Ux d& HEA F3 o] | 38.17. Have you ever worked for pay?
and text JoAY7?
Codes/ @ 2 @ Yes
Categories @ Tt @ No
Questionno. | 39:7]8k= AW Aol A oW F7{< | 39. What kind of work do you
and text Y= shaut? A o R B normally do? What do you actually
THALL A4 = s gl do in that job? If currently not
oAt 7hd el e el HsiAM | working, tell me about your last job.
TEE FHAL.
39.2: A< 39.2: occupation
Codes/
Categories
deviating from
1ISCO88 /
ISCO88-COM
Interviewer
Instruction
Translation
Note
Note
Use of ISCO | 1SCO88 (ILO) I
ISCO88-COM (EU variant) O




Other ISCO88 variant
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O-—please specify

Filter Variable(s) and Conditions:

Ask if SPWORK=1 or 2, respondent in corrent or past paid work
Q39.2: To be answered by those who are currently working or those who have ever worked for pay
for one year or more (code 2 in Q38 and code 1 in Q38.17)

Construction/Recoding:

Country Variable Codes/Construction Rules

=> SPISCO88

SPISC0O88=0Q39.2

If WORK=1 or
SPISC0O88=9998

WORK=2 and Q39.2=88888,

9998 Don’t know

If WORK=1
SPISCO88=9999
If WORK=9, then SPISCO88=9999

or WORK=2 and Q39.2=99999,

9999 No answer

If SPWORK=0 or SPWORK=3, then SPISC0O88=0

0.NAP(Code 3 in SPWORK)

SPMAINST — SP: Main status

National Language English Translation

Questionno. | 38. @A FIste TRl U= 4= 38. Do you have a job that provides
and text Stal Al 712 income?
Codes/ O =t Yes
Categories @ o}lyrt No

@ ottt No
Question no. | 29.8. (d3tx YA ¥ohdA) Ystal | 29.8. (IF NOT WORKING) What is
and text AA ke T F 23 olf = the primary reason for unemployment?

FAdY7
Codes/ (01) gEn< (01) Below school age
Categories (02) )& (02) Schooling

(03) 7FAF (03) Staying at home

(04) =+ (04) Old age

(05) A4 (05) Ilness

(06) A7l (06) Disabled

(07) AAIF2 (07) Temporarily not working

(08) A= (08) Unemployed

(09) =% (09) Retired

(10) A== (10) Retired under the age limit

(11) HAA=H] (11) Preparing to begin work
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(12) 5= (12) Doing study

(13) =4 (13) In military service

(14) A3 sl (14) Business failure

(15) ;A2 A+ (15) Not intending to work
(16) A&FH] (16) Preparing to get married
(17) FuH o] (17) For religious reasons
(18) 715 E1.7] 930 (18) To care for the family
(19) AL 59 sloA (19) No abiliy to get work
(20) A (20) pregnancy

(21) A3 (21) Traveling

(77) 718 (FAQ ) (77) OTHER (SPECIFY:_ )

Filter Variable(s) and Conditions:

Q38: Ask if PARTLIV=1 or 2, respondent is in a steady partnership
Q29-8. To be answered by those who are currently not working .

Construction/Recoding:

Country Variable Codes/Construction Rules

2> SPMAINST

If Q38=1, then SPMAINST=1

1. In paid work

If Q29.8=8 or 11or 14, then SPMAINST=2

2. Unemployed and looking for a job

If Q29.8=2 or 12, then SPMAINST=3

3. In education

4. Apprentice or trainee

If Q29.8=5 or 6, then SPMAINST=5

5. Permanently sick or disabled

If Q29.8=9 or 10, then SPMAINST=6

6. Retired

If Q29.8=3 or 18, then SPMAINST=7

7. Domestic work

If Q29.8=13, then SPMAINST=8

8. In compulsory military service or
community service

If Q29.8=4 or 7 or 15 or 16 or 17 or 19 or 20 or 21 or
77, then SPMAINST=9

9. Other

If Q29.8=88, then SPMAINST=99
I Q38=8, then SPMAINST=99

99. No answer

UNION — Trade union membership

National Language

English Translation

Question no. | 36.1 7ol 93l 318 % o] 36.1. Do you work for someone else?
and text JEFY7?
Codes/ O 18t} @ Yes
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Categories | @ o4t} 2 No

Question no. | 36.8 75t @A s FF ol 36.8 Are you a union member?

and text 7FAE A 57

Codes/ O 1% @ Yes

Categories | @ ot} @ No

Question no. | (Z7F43taL A LhH) (IF NOT UNION MEMBER)
3] 15 S| 12

and text 36.8.1 A 7R # o] A5 36.8.1 Were you a member of trade

union before?
Codes/ O AU @ Yes
Categories | @ 1t} @ No

Filter Variable(s) and Conditions:

Q36.1: Ask only to those who are currently working for pay (code 1 at Q36)
Q36.8: To be answered by those who are working for someone else (code 1 at Q36.1)
Q036.8.1: Te be answered by employees who are currently not a union.member (code 2 at Q36.8)

Construction/Recoding:

Country Variable Codes/Construction Rules

= UNION

If Q36.8=1, UNION=1

1. Yes, currently

If Q36.8=2 and Q36.8.1=1, UNION=2

2. Yes, previously but cut currently

If Q36.8=2 and Q36.8.1=2, UNION=3

3. No, never

If Q36.8=8, UNION=7 7.Refused
If Q36.8=2 and Q36.8.1=8, then UNION=7
If Q36.8=9, then UNION=9 9. No answer

If 036.8=2 and Q36.8.1=9

Nat_RELIG — Country-specific religious affiliation

National Language

English Translation

Question no. | 21. At AW FuE 7FA| L 25.What is your religion?
and text Al Y712
Codes/ D B2m @D Buddhist
Categories
) @ 7jAla (@ Protestant
® A7 @ Catholic
@ Fa gl @ No religion
G dEw (® Won-Buddhism

® =AF7e3

® Soka Gakkai International
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@ S (@ Confucianism
Tl Taoism
ORIE R Y= © folk religion/shamanism
O H=al Cheondogyo
@ <=7 3] @ Daesunjillihoe
© FA= @2 Jeungsando
@ HE @3 Chollikyo
(77) 71Et (A= Fn (77) OTHER (SPECIFY )
Interviewer
Instruction
Translation
Note
Note
Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = RELIG
If Q21=4, RELIG=0 0. No religion
If Q21=1, RELIG=1 1. Buddhist
If Q21=2, RELIG=2 2. Protestant
If Q21=3, RELIG=3 3. Catholic
If Q21=5, RELIG=4 4. Won-Buddhism
If Q21=6, RELIG=5 5. Soka Gakkai International
If Q21=7, RELIG=6 6. Confucianism
If Q21=8, RELIG=7 7. Taoism
If Q21=9, RELIG=8 8. folk religion/shamanism

If Q21=10, RELIG=9

9. Cheondogyo

If Q21=11; RELIG=10

10. Daesunjillihoe

If Q21=12, RELIG=11

11. Jeungsando

If Q21=13, RELIG=12

12. Chollikyo

If Q21=77, REL1G=13

13. Other Asian Religions

RELIGGRP- Groups of religious affiliations

National Language

English Translation

Questionno. | 21. FAstE AW FuE 7FA|aL
and text Al Y72

25.What is your religion?

Codes/ D B

D Buddhist
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Categories | @ 7§41 (2 Protestant
® A5 (3 Catholic
@ 23 Y @ No religion
G Q= (© Won-Buddhism
©® A %7133 ® Soka Gakkai International
@ S (@ Confucianism
Eal Taoism
@ WA}/ H A © folk religion/shamanism
0 H=u Cheondogyo
@ )7 3] @ Daesunjillihoe
@ FAt= @2 Jeungsando
® A @ Chollikyo
(77) 71E (o= FW (77) OTHER (SPECIFY )
Interviewer
Instruction
Translation
Note
Note
Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = RELIGGRP
If Q21=4, RELIG=0 0. No religion
If Q21=3, RELIG=1 1. Catholic
If Q21=2, RELIG=2 2. Protestant
If Q21=1, REL1G=3 3. Buddhist

If Q21>=5 and Q21<=77, RELIG=4

4. Other Asian Religions

ATTEND - Attendance of religious services

National Language

English Translation

Question no. | 20. #Aste= Ly A B3 ==
and text ou) =8 7Yk

20. How often do you attend religious
services?

Codes/ (01) YFAol| o5 W

(01) A few times a week
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Categories | (02) ¥Fol] g+ W (02) Once a week
(03) gherel] 4] W (03) Two or three times a month
(04) el <k (04) Once a month
(05) Ude] 2 W (05) Several times a year
(06) el 2 (06) Once a year
(07) el & i mink

(07) Less than once a year

(08) A3f 7H4] =tk

(08) Never

(88) ®EZAT}H

(88) DON'T KNOW

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

| Ask all

Construction/Recoding:

Country Variable Codes/Construction Rules

= ATTEND

If Q20=1, ATTEND=1

Several times a week

If Q20=2, ATTEND=2

Once a week

If Q20=3, ATTEND=3

2 or 3 times a month

If Q20=4, ATTEND=4

Once a month

If Q20=5, ATTEND=5

Several times a year

If Q20=6, ATTEND=6 Once a year
If Q20=7, ATTEND=Y Less frequently
If Q20=8, ATTEND=8 Never

If Q20=88, ATTEND=98

1
2
3
4
5
6
7
8
9

8. Don’t know, varies too much

TOPBOT- Top-Bottom self-placement

National Language English Translation
Question no. | 14. gr=AL3le] Hslss 12 ofaL 14. In our society there are groups
and text HANZS 1002 sd A= which tend to be towards the top and
oltjd] &3tttz AzFelH U7 groups which tend to be towards the
SR E W2 FAA S bottom. Below is a scale that runs top to
bottom. Where would you put yourself
on this scale?
Codes/ 14 (1) Bottom
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Categories 23 2)
33 (3)
47 (4)
574 (5)
6 % (6)
73 (7)
8 A (8)
93 (9)
10 A (10) Top
Interviewer
Instruction
Translation
Note
Note
‘ Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = TOPBOT
If Q14=1, TOPBOT=1 1. Lowest, Bottom
If Q14=2, TOPBOT=2 2
If Q14=3, TOPBOT=3 3
If Q14=4, TOPBOT=4 4.
If Q14=5, TOPBOT=5 5.
If Q14=6, TOPBOT=6 6
If Q14=7, TOPBOT=7 7
If Q14=8, TOPBOT=8 8
If Q14=9, TOPBOT=9 9

If Q14=10, TOPBOT=10

10. Highest, Top

If Q14=88, TOPBOT=98

98. DK

-not used

99. No answer

Optional: Recoding Syntax

VOTE_LE - Did respondent vote in last general election?

National Language

English Translation

Questionno. | 9.713F= 2010 69 2 el AU | 9. Did you vote in the 5th Nationwide local
and text A= EA AR AA v FRxRFU? elections(June 2, 2010)?
Codes/ D Exac} @ Voted.
Categories
J @ FxEsA Fokrt 2 Did not vote.
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(8) Don’t know

(9) Not eligible.

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = VOTE_LE
If Q9=1, VOTE_LE=1 1.Yes
If Q9=2, VOTE_LE=2 2. No
If Q9=7, VOTE_LE=7 7 Refused

If Q9=9, VOTE_LE=0

0. Not eligible to vote at last election

NAT_PRTY - R: party affiliation = eountry-specific

National Language

English Translation

Questionno. | 9.8l 20109 6 ¥ 2 Yol AR 9. Did you vote in the 5th Nationwide local

and text Ao sAAGAA o FxAGU7R | electionsJune 2, 2010)?

Codes/ O =g @ Voted.

Categories
©@ F3EsHA FATE 2 Did not vote.
(8) E=At (8) Don’t know
(9) Fxde] A= (9) Not eligible.

Question no. (AZESAALAA o FE3FHTA) (IF YOU VOTED IN THE 5TH

and text 9.1 2010 A6 24 NATIONWIDE LOCAL ELECTION)
A AP A ol A 9.1 Which party " s heads of local
FAFAG(EEAY, F9A%, T | governments candidate did you vote in
Ao R o= HFe] FHof the June(2010)’s the 5th Nationwide
FESFAFU? local elections?

Codes/ 1 stitete 1. Grand National Party

Categories

2 Rixg 2. Democratic Party
3 AtedElE 3. Liberty Forward Party

4 DOleH5|YAch

4. Future Hope Alliance

5 RFL5Y 5. Democratic Labor Party
6 FxE=Y 6. Creative Korea Party

\I
A
HL
=
ol

7. Solidarity for New Progressive Party

(o]
Ml
=
o2
<
ofl

8. Participation Party
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I

9 24

9. Independent

66 7|Et MY

66. OTHER (SPECIFY :)

88 OIFEHOHTEESX| I3

88. NONE

Note

Filter Variable(s) and Conditions:

Q10: Ask all

Q10.1: To be answered by those who do not support any party (code 77 at Q10)

Construction/Recoding:

Country Variable Codes/Construction Rules

=2 NAT_PRTY

If Q9=1 or Q9.1=1, NAT_PRTY=1

1. Grand National Party

If Q9=1 or Q9.1=2, NAT_PRTY=2

2. Democratic Party,

If Q9=1 or Q9.1=3, NAT_PRTY=3

3. Liberty Forward Party

If Q9=1 or Q9.1=4, NAT_PRTY=4

4. Future Hope Alliance

If Q9=10r Q9.1=5, NAT_PRTY=5

5. Democratic Labor Party

If Q9=1or Q9.1=6 , NAT_PRTY=6

6. Creative Korea Party

If Q9=1 or Q9.1=7 , NAT_PRTY=7

7. Solidarity for New Progressive Party

If Q9=1 or Q9.1=8 , NAT_PRTY=7

8. Participation Party

If Q9=1 or Q9.1=9, NAT_PRTY=7

9. Independent

If Q9=1 and Q9.1=66, then NAT_PRTY=95 95. Other
If Q9=1 and Q9.1=77, thennNAT_PRTY=96 96. DK
If Q9=1 and Q9.1=88, then NAT PRTY=98 98. None

If Q9=1 and Q9.1=99, then.NAT_PRTY=99

99. No answer

PARTY_LR - R: party voted for in last general election: left-right scale

National Language

English Translation

Question no. | 10. A3k AFAlo] A H o7 o] 10. To what degree do you think

and text AE R A = Bydolgal yourself politically liberal or
iRAnS AR b/ conservative?

Codes/ @D ¢ Ax=A D Very liberal

Categories  "g) o w4 @ Somewhat liberal

® 3=

@ Neither liberal nor conservative

@ oz BA

@ Somewhat conservative
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(® Very conservative

(8) Can’t choose

Interviewer
Instructions

Translation
Note

Note

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

= PARTY_LR

If Q10=1, PARTY_LR=1

1. Far left (communist etc.)

If Q10=2, PARTY LR=2

2. Left / centre left

If Q10=3, PARTY_LR=3

3. Centre / liberal

If Q10=4, PARTY_LR=4

4. Right / conservative

If Q10=5, PARTY_LR=5

5. Far right (fascist etc.)

- not used 6. Other

- not used 7. No party affiliation

- not used 97. No party, no preference
If Q10=8, PARTY_LR=8 98. Don’t know

- not used 99. No answer

HOMPOP'- How many persons in household

National Language

English Translation

Question no. | 26.A3}2l o= ASE XA
and text AR BE B 7] 7ol o] A
AFH7E? A, AL, dd 59
offf& dAH o wE M U=
7hEe Al9jsta wEEte] FAAL.

26. How many family members, including
yourself, presently reside in your home? Do
not include those who are temporarily living
elsewhere due to schooling, employment,
military service, etc.

Codes/ A 7MEF ™

NUMBER OF PERSONS:

Categories

Interviewer
Instruction

Translation
Note

Note

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in

[square brackets] with real numbers.)

Country Variable Codes/Construction Rules

= HOMPOP
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[1] [lowest]
[8] [highest]
-not used 99. No answer

HHCHILDR - How many children in household

National Language

English Translation

Question no. | 29 o] A &= 7153 w2 A

and text Q= 7= aga HES oAk
A Al Zo] i = At
g YA WA 7stet ofw

29. Now | would like to ask about your
family members. Please include all family
members who are living in your house and
who are.temporarily living somewhere else.

FA A D& FAI S 7+ Answer the following questions beginning
AR gt FAAL. with yourself.
29.3.0] o] t}jo]= wto g o 29.3. How old is [PERSON]?
A 712

Codes/ : 22 Total:

Categories

Interviewer

Instruction

Translation

Note

Note

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in

[square brackets] with real-numbers.)

Country Variable Codes/Construction Rules

= HHCHILDR

[7]

[lowest]

[17]

[highest]

If OLD2<7 or OLD2>17, then HHCHILDR=0
If OLD3<7.0or OLD3>17, then HHCHILDR=0
If OLD4<7 or OLD4>17, then HHCHILDR=0
If OLD5<7 or OLD5>17, then HHCHILDR=0
If OLD6<7 or OLD6>17, then HHCHILDR=0
If OLD7<7 or OLD7>17, then HHCHILDR=0
If OLD8<7 or OLD8>17, then HHCHILDR=0
If OLD9<7 or OLD9>17, then HHCHILDR=0
If OLD10<7 or OLD10>17, then HHCHILDR=0

0. No children

-not used

99. No answer
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HHTODD - How many toddlers in household

National Language

English Translation

Question no. | 29 o] A3 & 7F53 w2 A3 | 29. Now | would like to ask about your

and text %E 7b, gl 7SS oy ARk family members. Please include all family
7] HHNA o] 21 9= Al members who are living in your house and
nE= gas] WA Fsket ojw who are temporarily living somewhere else.
A 1A TF FA|L v} z+ Answer the following questions beginning
AR Tato] FAHAAL. with yourself.
29.3.0] o] o] wto g o 29.3. How old is [PERSON]?
Al Y72

Codes/ : 3 Total:

Categories

Interviewer

Instruction

Translation

Note

Note

Construction/Recoding: (list lowest, highest, and “missing’ codes only, replace terms in
[square brackets] with real numbers.)

Country Variable Codes/Construction Rules

= HHTODD

[1]

[lowest]

[6]

[highest]

If OLD2>7, then HHTODD=0
If OLD3>7, then HHTODD=0
If OLD4>7, then HHTODD=0
If OLD5>7, then HHTODD=0
If OLD6>7, then HHTODD=0
If OLD7>7, then HHTODD=0
If OLD8>7, then HHTODD=0
If OLD9>7, then HHTODD=0
If OLD10>7, then HHTODD=0

0. No toddlers

-not used 99. No answer
NAT_RINC — Country-specific: personal income
National Language English Translation

Question no. | 36.15°] ZAolA LHHF A5 h=F 36.15 Before taxes and other deductions,
and text Ak uU7t? AlFEA ol Aol A4=24, | what is your total monthly average

7Neg - AdE - TS BT income from this job? This includes

ZEsle] W] FAIAQ. your base pay, bonuses, and other

allowances.

Codes/ (00) 2590 (00) No income
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Categories (01) 50 R+ w] gk (01) Less than 500,000 won
(02) 50 ¥ ~ 99 ¥ (02) 500,000 ~ 990,000 won
(03) 100 ¥Hd ~ 149 7+ (03) 1,000,000 ~ 1,490,000 won
(04) 150 ¥hd ~ 199 »+¢d (04) 1,500,000 ~ 1,990,000 won
(05) 2005+ ~ 2497+ (05) 2,000,000 ~ 2,490,000 won
(06) 2507 ~ 2997+ (06) 2,500,000 ~ 2,990,000 won
(07) 300%F ~ 3497+ (07) 3,000,000 ~ 3,490,000 won
(08) 3508 ~ 399w+ (08) 3,500,000 ~ 3,990,000 won
(09) 40074 ~ 4497+ (09) 4,000,000 ~ 4,490,000 won
(10) 4508+ ~ 4997+ (10) 4,500,000 ~ 4,990,000 won
(11) 5005+ ~ 4497+ (11) 5,000,000 ~ 5,490,000 won
(12) 5508 ~ 5997+ (12) 5,500,000 ~ 5,990,000 won
(13) 6007H ~ 6497+ (13) 6,000,000 ~ 6,490,000 won
(14) 6507 ~ 699%+¢ (14) 6,500,000 ~ 6,990,000 won
(15) 7007+ ~ 7497+ (15) 7,000,000 ~7,490,000 won
(16) 7509 ~ 7999k (16).7,500,000 ~ 7,990,000 won
(17) 800%HY ~ 849wk (17) 8,000,000 ~ 8,490,000 won
(18) 8507 ~ 899w+l (18) 8,500,000 ~ 8,990,000 won
(19) 900%F ~ 9497+ (19) 9,000,000 ~ 9,490,000 won
(20) 9508 ~ 9997+ (20) 9,500,000 ~ 9,990,000 won
(21) 1,000%+d o)Ak (21) More than 10,000,000 won
Interviewer | (54 59 A$ole 9258 12 /I€= | (IF THE RESPONDENT DOES NOT
Instruction UolA 71938k L) HAVE A REGULAR MONTHLY
INCOME (EX. FARMER), THEN DIVIDE
THE ESTIMATED ANNUAL INCOME
BY 12)
Translation
Note
Note
NAT_INC — Country-specific: household income
National Language English Translation
Question no. | 40. A A FAS2 M3 A4 | 40. Before taxes and other deductions,
and text o] Aol theF o] AL = 7}? what is the total average monthly
A3E 283 2E 57 VEE income of your household? This
Fds 22AE, o)z, A4 2 ol | includes all sources of income (e.g.
A5 AF, 4FE HERF 3L work income, interest or dividends,
TR EE A ow W = property income, rent, pensions, welfare

support, or the money personally
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provided by somebody) from all
household members including yourself.

Codes/ (00) 2=591& (00) No income

Categories (01) 50 9w qk (01) Less than 500,000 won
(02) 50 *F ~ 99 vF¢) (02) 500,000 ~ 990,000 won
(03) 100 ¥kl ~ 149 7-¢d (03) 1,000,000 ~ 1,490,000 won
(04) 150 ¥Hd ~ 199 v+l (04) 1,500,000 ~ 1,990,000 won
(05) 200%-¢1 ~ 2497+ (05) 2,000,000 ~ 2,490,000 won
(06) 2509+ ~ 2999 (06) 2,500,000 ~ 2,990,000 won
(07) 30091 ~ 3497k (07) 3,000,000 ~ 3,490,000 won
(08) 350%H¢] ~ 3994 (08) 3,500,000 ~ 3,990,000.won
(09) 4007+ ~ 4497 (09) 4,000,000 ~ 4,490,000 won
(10) 4508 ~ 4997+ (10) 4,500,000 ~ 4,990,000 won
(11) 5005+ ~ 449k (11) 5,000,000 ~ 5,490,000 won
(12) 55091 ~ 599 (12) 5,500,000 ~:5,990,000 won
(13) 6009+ ~ 6497 (13) 6,000,000 ~6,490,000 won
(14) 6507 ~ 699%+¢ (14) 6,500,000 ~ 6,990,000 won
(15) 700%+-¢1 ~ 7497k (15).7,000,000 ~ 7,490,000 won
(16) 7509+ ~ 7997 (16) 7,500,000 ~ 7,990,000 won
(17) 800+ ~ 8497 (17) 8,000,000 ~ 8,490,000 won
(18) 850+ ~ 8994 (18) 8,500,000 ~ 8,990,000 won
(19) 900+ ~ 949k (19) 9,000,000 ~ 9,490,000 won
(20) 9507+ ~ 9994 (20) 9,500,000 ~ 9,990,000 won
(21) 1,0009F o] %+ (21) More than 10,000,000 won

Interviewer | (54 §9 Agde 44258 (IF THE RESPONDENT DOES NOT

Instruction 127142 oA gt HAVE A REGULAR MONTHLY
71918141 L) INCOME (E.G. FARMER), DIVIDE

THE ESTIMATED ANNUAL
INCOME BY 12)

Translation

Note

Note

MARITAL — Legal partnership status
National Language English Translation
Question no. | 29-1-4. o] &9 1 El= 7]&, A, | 29-1-4. Is [PERSON] now married,
and text olZ, HA, nE, FA FoIA ojyel | widowed, divorced, separated,

g 7t?

cohabiting, or never married?
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Codes/ ® 71& (D Married
Categories | @ A} (2 Widowed
@ o= (3 Divorced
@ EA (@) Separated
GRE= (® Never married
® 57 ® Cohabiting
Construction/Recoding:
Country Variable Codes/Construction Rules = MARITAL
If Q29-1-4=1, then MARITAL=1 1. Married

If Q29-1-4=6, then MARITAL=2

2. Civil partnership

If Q29-1-4=4, then MARITAL=3

3. Separated from spouse/civil partner

If Q29-1-4=3, then MARITAL=4

4. Divorced from spouse/legally
separated from civil partner

If Q29-1-4=2, then MARITAL=5

5. Widowed/civil partner died

If Q29-1-4=5, then MARITAL=6

6. Never married/never in a civil
partnership

If Q29-1-4=8, then MARITAL=7

7. Refused

URBRURAL =Place of living: urban-rural

National Language

English Translation

Question no. | 22. 73 the 5 o] A9 2ka | 22. Which of the categories below
and text thar Az Y 7? comes closest to the type of place you
are living in now?
Codes/ D2 =4 @ A big city
Categories - —
@ 2 =A Fu () The suburbs or outskirts of a big city
@ & wA ® A town or a small city
@ A =upe @ A country village
® o 3 ® A farm or home in the country
(8) meEA (8) DON'T KNOW
Interviewer
Instruction
Translation
Note
Note

Filter Variable(s) and Conditions:

Construction/Recoding:
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Country Variable Codes/Construction Rules

= URBRURAL

If Q22=1, URBRURAL=1

1. Urban, a big city

If Q22=2, URBRURAL=2

2. Suburbs or outskirts of a big city

If Q22=3, URBRURAL=3

3. Town or a small city

If Q22=4, URBRURAL=4

4. Country village

If Q22=5, URBRURAL=5

5. Farm or home in the country

If Q22=8, URBRURAL=9

9. No answer

NAT_REG — Country-specificL region

National Language English Translation

Question no.

and text

Codes/

Categories

Interviewer

Instruction

Translation

Note

Note Individuals are sampled by the three-stage area probability sampling method. The
total number of sample blocks-(or clusters) is 200. The total sample blocks are
distributed to 16 do’s or si’s at the province level, proportionate to the distribution
of households in Korea.

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

2 NAT_REG

If BLOCKNO=1-41, NAT_REG=1

. Seoul metropolitan city

If BLOCKNO=101-146, NAT_REG =2

. Gyeonggi province

If BLOCKNO=151-161, NAT_REG =3

. Inchon metropolitan city

If BLOCKNO=201-206, NAT_REG =4

. Gangwon province

I BLOCKNO=251-258, NAT_REG =5
If BLOCKNO=301-306, NAT_REG =5

QB WIN|F-

. Chungchong province

If BLOCKNO=281-286, NAT_REG =6

(o2}

. Daejon metropolitan city

If BLOCKNO=551-561, NAT_REG =7
If BLOCKNO=401-413, NAT_REG =7

7. Gyeongsang province

If BLOCKNO=501-514, NAT_REG =8

8. Busan metropolitan city

If BLOCKNO=531-535, NAT_REG =9

9. Ulsan metropolitan city

If BLOCKNO=581-590, NAT_REG =10

10. Daegu metropolitan city

If BLOCKNO=601-608, NAT_REG =11
If BLOCKNO=651-658, NAT_REG =11

11. Jeolla province

If BLOCKNO=631-636, NAT_REG =12

12. Gwangju metropolitan city

If BLOCKNO=681-682, NAT_REG =13

13. Jeju province







41

WEIGHT — Weighting factor

Please report on whether you calculate any weighting variables. If you adjust for non-
response bias, please enter the variable(s) on which the sample’s distribution(s) is (are)
adjusted to the population distribution(s). Please, also report if you apply any kind of
rescaling.

Design weight to

adjust for unequal No [1V
selection probabilities
Yes []
Weight to adjust for No N
non-response bias []
Yes [ ] please specify variables used

for calculation of weight

Are the final weights No B

rescaled to net sample ) )

size (thus weighted please specify target population _
sample represented by sum of all case weights

size=unweighted
sample size)?

Yes []

Note
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MODE — Administrative mode of data-collection (OR Data collection method)

Note

Con

struction/Recoding:

Country Variable Codes/Construction Rules

= Mode

10. F2f, pap a pencil, no visuals

11. F2f, pap a pencil, visuals

12. F2f, pap a pencil, R reading
guestionnaire

13. F2f, pap a pencil, interpreter or
translator — no visuals

14. F2f, pap a pencil, interpreter or
translator — visuals

20. F2f, comp assisted, no visuals

21. F2f, comp assisted, visuals

22. F2f, comp assisted, R reading
questionnaire (paper or on monitor)

23. F2f, comp assisted, interpreter or
translator — no visuals

24. F2f, comp assisted, interpreter or
translator — visuals

30. Self-compl, pap a pencil, arrives
with interviewer, interviewer attending

31. Self-compl, pap a pencil, arrives
with interviewer, drops-off, picks up
later

32. Self-compl, pap a pencil, arrives
with interviewer, drops off, mailed
back by R

33. Self-compl, pap a pencil, mailed
to, complete and hold for pick up

34. Self-compl, pap a pencil, mailed
to, mailed back by R

40. Self-completion, computer assisted

52 Telephone interview

99. NA

0. NAV




Optional ISSP Background Variable

ETHNIC - Origin country / ethnic group / ethnic identity / family origin

***This variable is not used for South Korea

43

National Language

English Translation

Question no.
and text

Codes/

Categories

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

=2ETHNIC

01. Africa, Somalia, Sudan, Mandinka,
Yoruba

02.

Aklanon, Romblon

03.

Albanian

04. American, American only, America

05. American Indian, Navajo, Ind.
Dialect

06. Arab, Muslim (Morocco, Algeria,
Lybia)

07. Esperanto, Latin, Slavonik, Celtic
08. Asia, other Asian

09. Australia, Oceania

10. Austria, Austrian (I:Alto Adige)
11. Baltic, Latvian, Estonian, Lith.
12. Bangladesh, Bangladeshi, Bengali
13. Basque, Vasco

14.

Belgium, Belgian

15.

Belorussia, Bialorussia

16.

Bicolano/Bikol

17.

Black/African/Carribean, No-

Spanish

18.

Bosnian (SLO:ethn.Muslim)

19.

Bulgaria

20.

Cajun/French Cajun

21.

Canada, other Canada

22.

Catalan-Valencian-

Balear/Mallorquin
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Country Variable Codes/Construction Rules

=2 ETHNIC

23. China, Cantonese, Hakka, Mandarin

24. Thai, Khmer, Vietnam, South-East
Asia

25. Cook Island Maori

26. Creole, Surinam, Metis, Chavacano

27. Croatia

28. Czech Republic, Czechia, Czech

29. Czechoslovakia, Moravia, Czech-
Slovak

30. Denmark, Danish

31. England, England&Wales; UK,
English

32. Europe, White/European

33. Fijian

34. Finland, Finnish

35. France, French (I:\Val D Aosta)

36. French Canada, French Canadian

37. Frisian

38. Germany, German
(H:German/Swab)

39. Greece, Greek

40. Hebrew/lvrit, Israel(arab pop.incl)

42. Hungary, Hungarian

50. Ibanag

43. llocano

44. llonggo/Hiligaynon, Bantayanon

45, India, Hindi, Urdu, Gujarati, Tamil

46. Indonesian, Malay/Malaysian

47. Iranian, Persian/Farsi, Dari

48. Ireland, Irish/Irish Gaelic

49, Italy, Italian

50. Japan, Japanese

51. Kapampangan/Pampangan

52. Kinaray-a

45, Korean

44. Maori+New Zealand

55. Maranaw/Maranao

56. Masbateno

57. Kurd, Assyria, Middle East,
Lebanon

58. Netherlands, Dutch, Flemish

59. Nordic, Scandinavian other

60. North America

61. Norway, Norwegian

62. Pacific, Polynesian,
Chamorro/Guam

63. Pakistan, Panjab/Punjabi, Pashto

64. Panggalatok/Pangasinan

65. Philippine other

66. Philippines, Tagalog, Filippino

67. Pidgin, PNG Pidgin

68. Poland, Polish, Pole
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Country Variable Codes/Construction Rules

=2 ETHNIC

69. Portugal, Portuguese, E:Galician

70. Romani, Gipsy

71. Romanian/Rumanian,
RUS:Moldavian

72. Russia, (former) USSR & Rep.

73. Samal

74. Samic, Lapp

75. Samoan, Tokelauan

76. Scotland, Scots Gaelic, Scottish

77. Serbia, Serbian, Serb

78. Slovakia, Slovak

79. Slovenia, Slovenian, Slovene

80. South+Latin America,
NL:Neth.Antilles

81. Spanish, (Castilian, Castellano

82. Swedish, Swede

83. Switzerland

84. Tatar

85. Tausug

86. Tongan, Niuean

87. Transcaucasian (BG:Armenian)

88. Turkey, Turkish (S:Bulgarian-turk)

89. Ukraine, Ukrainian (SK:Ruthenian)

90. USA

91. Visayan/Cebuano, Boholano,
Leyteno

92. Waray

93. Welsh

94. Yiddish/Jewish

95. Yugoslavia, Serbo-Croatian

98. Other, mixed origin

99. NA, don’t know

00. NAP; not available

Optional:'Recoding Syntax
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4. Country Questionnaire

Please provide the part(s) of your country questionnaire that relate(s) to the background
variables reported in this template. If these variables are already covered by your country’s
field questionnaire delivered with your national ISSP data file, then just tick on the last
page of this document. (PDF or MS Word format preferred.)

[ ] Already included in field questionnaire provided with the country data file.
[ x ] Attached file: XXXXX. XXX

5. Frequency Distributions of Source Variables

Please supply frequency distributions with absolute and relative frequencies, missing
values included, for all source variables. Source variables are the country-specific
variables before recodes into ISSP standard variables are done.~(MS Word or simple
ASCII file preferred.)

Attached file: YYYVYYY.YYY.

6. Correspondence list ISCO88<->national occupation codes

If your country derives ISCO88 codes from a national occupation coding scheme, please
supply a correspondence list of national codes and ISCO88 codes. (MS Word or simple
ASCII file preferred.)

[x] 1ISCO88 is used to code responses directly.
[ ] Conversion of national.coding scheme to ISCO88. Attached file: ZZZZ27Z.Z7Z.





